23-009 - TXT ACRYLIC DASH CONSOLE (BLACK)
23-010 - TXT ACRYLIC DASH CONSOLE (BLACK w/ CARBON)

WARRANTY PARTS
EXPLODED VIEW DIAGRAM

TXT ACRYLIC DASH CONSOLE - 23-009 (BLK) / 23-010 (BLK w/ CARBON)
ITEM NO. DESCRIPTION PART NO. QTY.

1 TXT Dash Console (Black) 1
TXT Dash Console (Black w/ Carbon)

2 TXT dash bracket W23-9-2 2

3 Console Lid (Black) W23-5-2 1
Console Lid (Black w/ Carbon) W23-6-2

4 Universal Lock & Nut W23-5-4 1

5 Cup Holder Lid - Driver Side (Black) W23-5-6 1
Cup Holder Lid - Driver Side (Black w/ Carbon) W23-6-6

6 Cup Holder Lid - Pass Side (Black) W23-5-7 1
Cup Holder Lid - Pass Side (Black w/ Carbon) W23-6-7
Hardware Pack W23-5-5 1
Plain washer, 6 mm, regular 4
Hex Bolt M6 x 20 2

9 Hex Bolt M6 x 25 2

10 Hex Nut M6 4
M3X8 Screws 24
Hinges for Lids 6

Revised on 1/27/15 - Added Warranty Part #'s for Cup Holder Lids & Combined Bracket Part #'s into one #



	Sheet1
	Drawing View1


